A R Y — %)L « OSDP A v R0 b i X

PAR b Y= FOVERHERS=1/20 BRAFEA L FEARE S=1/10

VAR R Y =S
(WARNTEN D » = HDZT 77)

970
970

0SDPA v FF v |
(IS D » X HDZT 49
Ay REREY v v —
(IARITEEN D » = HDZT 49)
A XA 4

OSDPA v ¥R/~ $28.5
(ETRSN D > = HDZT 77)

(=]
(=)
=
[) [ )
o
(=)
=
1500 1500 AL

R A L an X s=1/5

0SDPF > 7ffE' > b ¢ 50 OSDPEEE > I ¢ 50
$28.5 m—F R

$28.5 m—F R

L E[ i L § i i é‘&bﬂ 2%
s} brs! Irs) O brs!
% =R

(LEEATE D)

= = = 20 o LG W=
A 1A R4 Ay XREREY v v — DA R P Y =S 970X 970 £ | 1| mEaEsan-x Wz 77
VR T A7\ X YR A -
OSDP A > &) b (AR S = < 2T 7D (ERUESRD>E HDZT 45) OSDPAYF AL | $28.5 m AR > X HDZT 77

(IARTREN D » = HDZT 49)

28.5 1 —7 %Y
e
] i

OSDPE'w k 50 1 1 “/\‘j')( ]\ U \'—/\OZ\\/]/

OSDPAYF T | $28.5 1 L | vEm@ldEgah - & HDZT 49 % %}j‘

\\
A F ot £ Sk 4 150150 X9 (45)| # L | wskiligad -~ = HDZT 77 OSDP)Z \\/ ﬂ?j:/]/ ]\

150
670
I
648

€

&

Ay RV v v — ¢ 7010 & L | vl - & HDZT 49
KB | Ty |Vyvy—|hyTT—| ¥rv7

38 54
456

F

HoE  [0SDPA v F| A v FERiH i s

; ARRRATE




